TpV]I’OHON\ETvaIeCKVIe BblparKeHnA

. 31T S5nt
Haiinute 3HaueHue BbIpakeHUs 8sin— - cos E A
SN 1 57 S ST _ ol g fa L
posin b 0SB = yedfn s R b p (4 T -
W—\/ o
Sy . T . T + +
:%ﬂﬂ ‘5": /,ﬁn///’z:y-ﬁﬁé - 7

Haiinute tg’a, ecmm 4sin” a+9cos’ a =6

yein*d + 4ot v 5 td = ¢
Y[ fin® d+ oy’ ) vSemtd = ¢

bes cold=6 =0 Fea’d =4 = co’A

L
5
RS NN
2 pn’d 3 .1 - 3 .S _ 3
fj”(fm' s 'z ¢ s g=1s

. 1
Haiinute 3cos2a, ecaum cosa =—.

2
o Jd = A - fin'd = e - [1-cwd) = dcoriy -1
4eodd = 6 d -3 = 5/5)1—5: £-3-2-3--415



